\ \ \ \

- Eva E 340x440 +VK 44 " G0146
hansa24g ™ 3D oM
o VAR Profile/Profil 44)(135 Scale/MaRstab Date 09012023




3400

JAQJ60

J1gou6
L

2820

Li

? 9

H=1790 m
TOTAL: 21.37 m2

, 7400 ,
| 2900 " 4112 100100
100 Lh
‘ 4400
, 4200 ,
‘ 1, 4112 \‘
ﬁiti re e T
:F:::::::::::::: ] :ft i
(j I ] Vfﬂ? ‘
| |
I
I ‘
I
| |
I e
v ey siglglgl o
P IS =SS
N 8.58 m2 £3 12.80 m2 E
L ~e |
I
) |
I
I |
Lj [ LU m ‘
§ i:::::::::::::: 1 x| %ﬁ
e TR e9xisF 69xILF 69xtkF T —+ T
W1N9-PT W119-PT W119-PT
\200 \200
2900 Vﬁf 496 0 . 495 H0 . 495 H0 496 10?190
100° K K ! ! LLTT
0o Name Eva E 340x440 +VK 44 U G0146
C - -
l.] Ei n Sa 24 ¢_3I Drawing/Zeichnung Plan_Grundplan Format A4
Profile/Profil 44)(13 . 5 Scale/MalRstab 1 : 50 Date 09 01 ) 2023




4180

Extra foundation beam for door

10

Extra fundamentbalken fir tir ) AT3

3180
AT1
ATA
AT2
AT2
AT2
S
‘_2
\i
AT
AT2
AT2
AT1
3040

AT3 )rr?
. 517 e 517 e 517 i 517 H 517 e 517 i 517 H
10/ 0 10 10 10 10 10 10 10
T
0o L Eva E 340x440 +VK 44 W G0146
hEinSEIZZI-,Qo brawiglzechnune Egyndation plan_Lagerholzplan Format A4
D Q Profile/Profil 44)(135 Scale/MalRstab 150 Date 09012023




b Model o Profile |Lengfh
Fva B 3L0xLL0 +VK LL imm) imm)
Nofice! The gable pieces can be partly pre-assembled!
Please nafice - Those differ from fhe descripfion given in the specification list
Achtung! Die Giebelbohlen konnen Tellweise schon vermaonfiert sein!
BiTTe beachten - diese erscheinen nicht ganz so wie In der leileliste beschrieben.
002 o - hare g o 1| Ghx135 | 4400
00" = v = 2 | hhx68 | 4400
002 5 o 0 15 | L4x135 | 4400
003 o - 0 1| &4x135 | 4400
00L T = 0 1| &&x135 | 4400
005 | 1 1 - ) 1| 44x135 | 4378
006 | § (1 - ) 1] 4hx135 | £378
007 — > 0 1| &hx135 | 4066
008 N - 0 1| L4x135 | LO66
009 pa— o — 1 2 | L4x135 | 3400
010 A o - 1| 44x135 | 3400
01" m - 0 17 | 44x135 | 3400
012 5 — 0 1] 44x135 | 3400
013 e - T 2 | 44x135 | 3154
06 | g .- w 1| &4x135 | 3022
015 | § &y .- N 1| Lhx135 | 3022
016 \ 1| 44x135 | 2504
017 2 | L4x135 | 2504
018 — 21| L4x135 | 640
019 T 1| 44x135 | 640
020 _— 6 | L4x135 | 613
021 T 18 | LLx135 | 495
027 T Lo L4x135 | 495
Kood  Fva b 340xLLD +VK b Materjal File @OW@@Eva{BAOxaabL@szwnd@g



AutoCAD SHX Text
spare log/Ersatzteile

AutoCAD SHX Text
Notice! The gable pieces can be partly pre-assembled!  Please notice - those differ from the description given in the specification list.

AutoCAD SHX Text
Achtung! Die Giebelbohlen können teilweise schon vormontiert sein! Bitte beachten - diese erscheinen nicht ganz so wie in der Teileliste beschrieben.

AutoCAD SHX Text
Kood

AutoCAD SHX Text
Materjal

AutoCAD SHX Text
Leht

AutoCAD SHX Text
File

AutoCAD SHX Text
Eva E 340x440 +VK 44

AutoCAD SHX Text
1/5

AutoCAD SHX Text
G0146 Eva E 340x440 +VK 44.dwg

AutoCAD SHX Text
Pos

AutoCAD SHX Text
Model

AutoCAD SHX Text
Eva E 340x440 +VK 44

AutoCAD SHX Text
Pcs

AutoCAD SHX Text
Profile

AutoCAD SHX Text
(mm)

AutoCAD SHX Text
Length

AutoCAD SHX Text
(mm)

AutoCAD SHX Text
001

AutoCAD SHX Text
2

AutoCAD SHX Text
44x68

AutoCAD SHX Text
4400

AutoCAD SHX Text
100

AutoCAD SHX Text
4112

AutoCAD SHX Text
100

AutoCAD SHX Text
002

AutoCAD SHX Text
15

AutoCAD SHX Text
44x135

AutoCAD SHX Text
4400

AutoCAD SHX Text
100

AutoCAD SHX Text
4112

AutoCAD SHX Text
100

AutoCAD SHX Text
003

AutoCAD SHX Text
1

AutoCAD SHX Text
44x135

AutoCAD SHX Text
4400

AutoCAD SHX Text
100

AutoCAD SHX Text
4112

AutoCAD SHX Text
100

AutoCAD SHX Text
004

AutoCAD SHX Text
1

AutoCAD SHX Text
44x135

AutoCAD SHX Text
4400

AutoCAD SHX Text
100

AutoCAD SHX Text
4112

AutoCAD SHX Text
100

AutoCAD SHX Text
005

AutoCAD SHX Text
1

AutoCAD SHX Text
44x135

AutoCAD SHX Text
4378

AutoCAD SHX Text
4112

AutoCAD SHX Text
200

AutoCAD SHX Text
006

AutoCAD SHX Text
1

AutoCAD SHX Text
44x135

AutoCAD SHX Text
4378

AutoCAD SHX Text
4112

AutoCAD SHX Text
200

AutoCAD SHX Text
007

AutoCAD SHX Text
1

AutoCAD SHX Text
44x135

AutoCAD SHX Text
4066

AutoCAD SHX Text
3922

AutoCAD SHX Text
100

AutoCAD SHX Text
008

AutoCAD SHX Text
1

AutoCAD SHX Text
44x135

AutoCAD SHX Text
4066

AutoCAD SHX Text
3922

AutoCAD SHX Text
100

AutoCAD SHX Text
009

AutoCAD SHX Text
2

AutoCAD SHX Text
44x135

AutoCAD SHX Text
3400

AutoCAD SHX Text
100

AutoCAD SHX Text
3112

AutoCAD SHX Text
100

AutoCAD SHX Text
010

AutoCAD SHX Text
1

AutoCAD SHX Text
44x135

AutoCAD SHX Text
3400

AutoCAD SHX Text
100

AutoCAD SHX Text
3112

AutoCAD SHX Text
100

AutoCAD SHX Text
011

AutoCAD SHX Text
17

AutoCAD SHX Text
44x135

AutoCAD SHX Text
3400

AutoCAD SHX Text
100

AutoCAD SHX Text
3112

AutoCAD SHX Text
100

AutoCAD SHX Text
012

AutoCAD SHX Text
1

AutoCAD SHX Text
44x135

AutoCAD SHX Text
3400

AutoCAD SHX Text
100

AutoCAD SHX Text
3112

AutoCAD SHX Text
100

AutoCAD SHX Text
013

AutoCAD SHX Text
2

AutoCAD SHX Text
44x135

AutoCAD SHX Text
3154

AutoCAD SHX Text
100

AutoCAD SHX Text
2756

AutoCAD SHX Text
210

AutoCAD SHX Text
014

AutoCAD SHX Text
1

AutoCAD SHX Text
44x135

AutoCAD SHX Text
3022

AutoCAD SHX Text
200

AutoCAD SHX Text
2756

AutoCAD SHX Text
015

AutoCAD SHX Text
1

AutoCAD SHX Text
44x135

AutoCAD SHX Text
3022

AutoCAD SHX Text
200

AutoCAD SHX Text
2756

AutoCAD SHX Text
016

AutoCAD SHX Text
1

AutoCAD SHX Text
44x135

AutoCAD SHX Text
2504

AutoCAD SHX Text
017

AutoCAD SHX Text
2

AutoCAD SHX Text
44x135

AutoCAD SHX Text
2504

AutoCAD SHX Text
018

AutoCAD SHX Text
21

AutoCAD SHX Text
44x135

AutoCAD SHX Text
640

AutoCAD SHX Text
496

AutoCAD SHX Text
100

AutoCAD SHX Text
019

AutoCAD SHX Text
1

AutoCAD SHX Text
44x135

AutoCAD SHX Text
640

AutoCAD SHX Text
100

AutoCAD SHX Text
496

AutoCAD SHX Text
020

AutoCAD SHX Text
6

AutoCAD SHX Text
44x135

AutoCAD SHX Text
613

AutoCAD SHX Text
021

AutoCAD SHX Text
18

AutoCAD SHX Text
44x135

AutoCAD SHX Text
495

AutoCAD SHX Text
022

AutoCAD SHX Text
4

AutoCAD SHX Text
44x135

AutoCAD SHX Text
495

AutoCAD SHX Text
002

AutoCAD SHX Text
1

AutoCAD SHX Text
44x135

AutoCAD SHX Text
4400

AutoCAD SHX Text
100

AutoCAD SHX Text
4112

AutoCAD SHX Text
100


b Model o Profile |Lengfh
Fva B 340440 +VK 44 (mm) (mm)
023 CHT 30 | 44x135 | 290
FOUNDATION BEAMS (impregnated) - FUNDAMENTHOLZER (impragniert)
AT3 ‘ / TOXL5 LOLO
FOUNDATION BEAMS (impregnated) - FUNDAMENTHOLZER (impragniert]
AT ‘ 3 TOXx45 3160
FOUNDATION BEAMS (impregnated) - FUNDAMENTHOLZER (impragniert]
AT? w 5 TOXL5 3040
PURLINS, - PFETTEN
PR? T o ™ 3| 70x1L5 | 4913
PURLINS - PFETTEN
PR o 2ol — 3| T0x145 | 2687
ROOF BOARDS - DACHBRETTER = T 132+2 113x18 1844
FLOOR BOARDS - FUSSBODENBRETTER A T |28+ 113x28 | 4107
L | | - | | 59
Ceiling mouldings - Deckenleisten (inside and outside - innen und auf3en) é 15x728
rm/Lfm
~loor mouldings - Fussbodenleisten ? Thx55 E
i "m/Lfm
RLIOT-1| Eave slaf - Traufenleiste 18x40 ) 1840 mﬁtim
-l | Eave slat - Traufenleiste 18x58 77770 | b | 18x58 | 3718
VLA | Gable board - Giebelbrett 18x120 125° 0 ZRl 1941,
071 able board - Giebelbre X | 18x120
OVZMW Gable cover slar - Giebeldeckleiste 18x586 L 18%x586 1944
[P90-1 Supporf post - Stutzpfoste 90x90 v A7 F0x90 2075
V] Metal bar - Metallstange 410 0 )|/ 10 1040
JV?2 | Metal bar - Metallstange 210 ¢ ) | 2 J10 900
JV3 | Metal bar - Metallstange 210 U )| 6 J10 360
P J0T | Adjustable post support - Verstellbare Pfostenstuftze M16 %-L— /
MLOT | Connecting strip for wall logs - Verbindugsstreifen fur Wandbalken /
GDOT | Diamond - Diamant Q /
LK | Hit block - Schlagholzer LE 3
QNSOOB Nails - Nagel 2. 5x60 for floor boards - fur Fussbodenbretfer 0 1448
N = () Nails - Nagel vierkant 2 5x50 for ceiling boards - fur 11797
2501 | Dachbrefter
K}%m@ Screws - Schrauben 3.0x30 for ceiling mouldings - fur Deckenleisten  wwwmwws( | 80
Kood Eva b 340x4L40 +VK L4 Mater al -ile GOT46 EvaE BAOXAA@@WK L L g



AutoCAD SHX Text
023

AutoCAD SHX Text
30

AutoCAD SHX Text
44x135

AutoCAD SHX Text
290

AutoCAD SHX Text
146

AutoCAD SHX Text
100

AutoCAD SHX Text
AT3

AutoCAD SHX Text
2

AutoCAD SHX Text
70x45

AutoCAD SHX Text
4040

AutoCAD SHX Text
FOUNDATION BEAMS (impregnated) - FUNDAMENTHÖLZER (imprägniert)

AutoCAD SHX Text
AT1

AutoCAD SHX Text
3

AutoCAD SHX Text
70x45

AutoCAD SHX Text
3180

AutoCAD SHX Text
FOUNDATION BEAMS (impregnated) - FUNDAMENTHÖLZER (imprägniert)

AutoCAD SHX Text
Kood

AutoCAD SHX Text
Materjal

AutoCAD SHX Text
Leht

AutoCAD SHX Text
File

AutoCAD SHX Text
Eva E 340x440 +VK 44

AutoCAD SHX Text
2/5

AutoCAD SHX Text
G0146 Eva E 340x440 +VK 44.dwg

AutoCAD SHX Text
Pos

AutoCAD SHX Text
Model

AutoCAD SHX Text
Eva E 340x440 +VK 44

AutoCAD SHX Text
Pcs

AutoCAD SHX Text
Profile

AutoCAD SHX Text
(mm)

AutoCAD SHX Text
Length

AutoCAD SHX Text
(mm)

AutoCAD SHX Text
AT2

AutoCAD SHX Text
6

AutoCAD SHX Text
70x45

AutoCAD SHX Text
3040

AutoCAD SHX Text
FOUNDATION BEAMS (impregnated) - FUNDAMENTHÖLZER (imprägniert)

AutoCAD SHX Text
PR2

AutoCAD SHX Text
3

AutoCAD SHX Text
70x145

AutoCAD SHX Text
4913

AutoCAD SHX Text
PURLINS - PFETTEN

AutoCAD SHX Text
513

AutoCAD SHX Text
4112

AutoCAD SHX Text
200

AutoCAD SHX Text
PR1

AutoCAD SHX Text
3

AutoCAD SHX Text
70x145

AutoCAD SHX Text
2687

AutoCAD SHX Text
PURLINS - PFETTEN

AutoCAD SHX Text
200

AutoCAD SHX Text
2443

AutoCAD SHX Text
ROOF BOARDS - DACHBRETTER

AutoCAD SHX Text
132+2

AutoCAD SHX Text
113x18

AutoCAD SHX Text
1844

AutoCAD SHX Text
FLOOR BOARDS - FUSSBODENBRETTER

AutoCAD SHX Text
28+1

AutoCAD SHX Text
113x28

AutoCAD SHX Text
4107

AutoCAD SHX Text
Ceiling mouldings - Deckenleisten (inside and outside - innen und außen)

AutoCAD SHX Text
15x28

AutoCAD SHX Text
59

AutoCAD SHX Text
Floor mouldings - Fussbodenleisten

AutoCAD SHX Text
14x55

AutoCAD SHX Text
16

AutoCAD SHX Text
Eave slat - Traufenleiste 18x40

AutoCAD SHX Text
18x40

AutoCAD SHX Text
15.8

AutoCAD SHX Text
RLI01-1

AutoCAD SHX Text
Eave slat - Traufenleiste 18x58

AutoCAD SHX Text
4

AutoCAD SHX Text
18x58

AutoCAD SHX Text
3718

AutoCAD SHX Text
RLI

AutoCAD SHX Text
02-1

AutoCAD SHX Text
Gable board - Giebelbrett 18x120

AutoCAD SHX Text
4

AutoCAD SHX Text
18x120

AutoCAD SHX Text
1944

AutoCAD SHX Text
VLA

AutoCAD SHX Text
02-1

AutoCAD SHX Text
Gable cover slat - Giebeldeckleiste 18x58

AutoCAD SHX Text
4

AutoCAD SHX Text
18x58

AutoCAD SHX Text
1944

AutoCAD SHX Text
VKL

AutoCAD SHX Text
02-1

AutoCAD SHX Text
Support post - Stützpfoste 90x90

AutoCAD SHX Text
2

AutoCAD SHX Text
90x90

AutoCAD SHX Text
2025

AutoCAD SHX Text
TP90-1

AutoCAD SHX Text
Metal bar - Metallstange Ø10

AutoCAD SHX Text
2

AutoCAD SHX Text
Ø10

AutoCAD SHX Text
1040

AutoCAD SHX Text
ÜV1

AutoCAD SHX Text
Metal bar - Metallstange Ø10

AutoCAD SHX Text
2

AutoCAD SHX Text
Ø10

AutoCAD SHX Text
900

AutoCAD SHX Text
ÜV2

AutoCAD SHX Text
Metal bar - Metallstange Ø10

AutoCAD SHX Text
6

AutoCAD SHX Text
Ø10

AutoCAD SHX Text
360

AutoCAD SHX Text
ÜV3

AutoCAD SHX Text
PJ01

AutoCAD SHX Text
Adjustable post support - Verstellbare Pfostenstütze M16

AutoCAD SHX Text
2

AutoCAD SHX Text
ML01

AutoCAD SHX Text
Connecting strip for wall logs - Verbindugsstreifen für Wandbalken

AutoCAD SHX Text
2

AutoCAD SHX Text
GD01

AutoCAD SHX Text
Diamond - Diamant

AutoCAD SHX Text
2

AutoCAD SHX Text
LK

AutoCAD SHX Text
Hit block - Schlaghölzer

AutoCAD SHX Text
3

AutoCAD SHX Text
N-0

AutoCAD SHX Text
2503

AutoCAD SHX Text
Nails - Nägel 2.5x60   for floor boards - für Fussbodenbretter

AutoCAD SHX Text
448

AutoCAD SHX Text
N-0

AutoCAD SHX Text
2501

AutoCAD SHX Text
Nails - Nägel vierkant 2.5x50   for ceiling boards - für

AutoCAD SHX Text
Dachbretter

AutoCAD SHX Text
792

AutoCAD SHX Text
KR-0

AutoCAD SHX Text
3001

AutoCAD SHX Text
Screws - Schrauben 3.0x30   for ceiling mouldings - für Deckenleisten

AutoCAD SHX Text
80

AutoCAD SHX Text
12.5%%d

AutoCAD SHX Text
rm/lfm

AutoCAD SHX Text
rm/lfm

AutoCAD SHX Text
rm/lfm


o Model oo Praofile |Length
Fva B 340x440 +VK 44 (mm] (mm)
éé%@@ Screws - Schrauben 3.0x30  for eave slafs - fur Iraufenleisten s |37
KR-0 | Screws - Schrauben 3.0x30  for floor mouldings - fur ﬂ
3003 | Fussbodenleisten o
KR-0 | Screws - Schrauben 3.5x45 (3 for connecting strip for wall logs (| s
3527 | - fur Verbindugsstreifen fur Wandbalken
é?BO Screws - Schrauben 3.5x45 (5 for diamonds - fur Diamanten 4 | 4
KR-0 | Screws - Schrauben 35x45 (3 for eave boards - fur q |37
3575 | Traufenbretfter
KR-0 | Screws - Schrauben 3.5x45 (3 for gable boards - fur q |16
3521 | Giebelbrefter
KR-0 | Screws - Schrauben 35x45 (3 for gable cover slafs - fur q |16
3521 | Giebeldeckleisten
KR-0 | Screws - Schrauben 5 0x100  for foundaftion beams - Ll
5080 | fur Fundamentholzer
KR-0 | Screws - Schrauben 5.0x70 (3 for post supports - fur 16
o033 | Pfostenstutzen
KR-0 | Screws - Schrauben 5. 0x/0 (3 for support posfts - fur - L
>034L | Stutzpfosten
KR-( | Screws - Schrauben 6.0x180  for :
607 wall logs - fur Wandbalken 77T
KL Threaded rod - Gewindestange M8 QDD | & 2000
KL2 | Threaded rod - Gewindestange M8 O | 2 L35
KL3 | Threaded rod - Gewindestange M8 O | & 325
Ihreaded rod for purlins - Gewindesftange fur die
(L0311 ptotten M1z : B
MO3 | Nuf for purlins - Muffer fur die Pfeften M1/ 17
SE37 | Washer for purlins - Scheibe fur die Pfeften M12x37 17
Nut - Mutter M3 @‘l 0
pavd
wWasher - Scheibe MexZ4 0
cxtended nut - Langmutter M8 b
Urive-in nut - cinschlagmutter M8 @)‘ 6
Kood EvaE 340x4L0 +VK 44 Materal File  GO146 Eva E BAOXMM@WK L L 3G



AutoCAD SHX Text
Threaded rod for purlins - Gewindestange für die

AutoCAD SHX Text
Pfetten M12

AutoCAD SHX Text
6

AutoCAD SHX Text
150

AutoCAD SHX Text
KL03-1

AutoCAD SHX Text
M03

AutoCAD SHX Text
Nut for purlins - Mutter für die Pfetten M12

AutoCAD SHX Text
12

AutoCAD SHX Text
Kood

AutoCAD SHX Text
Materjal

AutoCAD SHX Text
Leht

AutoCAD SHX Text
File

AutoCAD SHX Text
Eva E 340x440 +VK 44

AutoCAD SHX Text
3/5

AutoCAD SHX Text
G0146 Eva E 340x440 +VK 44.dwg

AutoCAD SHX Text
Pos

AutoCAD SHX Text
Model

AutoCAD SHX Text
Eva E 340x440 +VK 44

AutoCAD SHX Text
Pcs

AutoCAD SHX Text
Profile

AutoCAD SHX Text
(mm)

AutoCAD SHX Text
Length

AutoCAD SHX Text
(mm)

AutoCAD SHX Text
KR-0

AutoCAD SHX Text
3002

AutoCAD SHX Text
Screws - Schrauben 3.0x30   for eave slats - für Traufenleisten

AutoCAD SHX Text
32

AutoCAD SHX Text
KR-0

AutoCAD SHX Text
3003

AutoCAD SHX Text
Screws - Schrauben 3.0x30   for floor mouldings - für

AutoCAD SHX Text
Fussbodenleisten

AutoCAD SHX Text
40

AutoCAD SHX Text
KR-0

AutoCAD SHX Text
3522

AutoCAD SHX Text
Screws - Schrauben 3.5x45 C3   for connecting strip for wall logs

AutoCAD SHX Text
- für Verbindugsstreifen für Wandbalken

AutoCAD SHX Text
8

AutoCAD SHX Text
KR-0

AutoCAD SHX Text
3523

AutoCAD SHX Text
Screws - Schrauben 3.5x45 C3   for diamonds - für Diamanten

AutoCAD SHX Text
4

AutoCAD SHX Text
KR-0

AutoCAD SHX Text
3525

AutoCAD SHX Text
Screws - Schrauben 3.5x45 C3   for eave boards - für

AutoCAD SHX Text
Traufenbretter

AutoCAD SHX Text
32

AutoCAD SHX Text
KR-0

AutoCAD SHX Text
3527

AutoCAD SHX Text
Screws - Schrauben 3.5x45 C3   for gable boards - für

AutoCAD SHX Text
Giebelbretter

AutoCAD SHX Text
16

AutoCAD SHX Text
KR-0

AutoCAD SHX Text
3521

AutoCAD SHX Text
Screws - Schrauben 3.5x45 C3   for gable cover slats - für

AutoCAD SHX Text
Giebeldeckleisten

AutoCAD SHX Text
16

AutoCAD SHX Text
KR-0

AutoCAD SHX Text
5080

AutoCAD SHX Text
Screws - Schrauben 5.0x100   for foundation beams -

AutoCAD SHX Text
für Fundamenthölzer

AutoCAD SHX Text
44

AutoCAD SHX Text
KR-0

AutoCAD SHX Text
5033

AutoCAD SHX Text
Screws - Schrauben 5.0x70 C3   for post supports - für

AutoCAD SHX Text
Pfostenstützen

AutoCAD SHX Text
16

AutoCAD SHX Text
KR-0

AutoCAD SHX Text
5034

AutoCAD SHX Text
Screws - Schrauben 5.0x70 C3   for support posts - für

AutoCAD SHX Text
Stützpfosten

AutoCAD SHX Text
4

AutoCAD SHX Text
KR-0

AutoCAD SHX Text
6020

AutoCAD SHX Text
Screws - Schrauben 6.0x180   for

AutoCAD SHX Text
wall logs - für Wandbalken

AutoCAD SHX Text
8

AutoCAD SHX Text
SE32

AutoCAD SHX Text
Washer for purlins - Scheibe für die Pfetten M12x37

AutoCAD SHX Text
12

AutoCAD SHX Text
KL1

AutoCAD SHX Text
Threaded rod - Gewindestange M8

AutoCAD SHX Text
4

AutoCAD SHX Text
2000

AutoCAD SHX Text
KL2

AutoCAD SHX Text
Threaded rod - Gewindestange M8

AutoCAD SHX Text
2

AutoCAD SHX Text
435

AutoCAD SHX Text
KL3

AutoCAD SHX Text
Threaded rod - Gewindestange M8

AutoCAD SHX Text
4

AutoCAD SHX Text
325

AutoCAD SHX Text
Nut - Mutter M8

AutoCAD SHX Text
6

AutoCAD SHX Text
Washer - Scheibe M8x24

AutoCAD SHX Text
6

AutoCAD SHX Text
Extended nut - Langmutter M8

AutoCAD SHX Text
4

AutoCAD SHX Text
Drive-in nut - Einschlagmutter M8

AutoCAD SHX Text
6


b Model o Profile |Lengfh
Fva b 340xLL0 +VK L4 ‘mm) ‘mm)
WINDOW 690x 1470 3
WE-SLLP-0OXT-06901470
690
| W119-PT
]
I\ / Right handed - DIN rechts
//\ Tempered glass - Gehartetes Glas
o |7 Opens inside - Offnet innen
= 0Ny
AN
AN
N
/ \
KR_(0 | Screws - Schrauben 3.5x45 (3 for door and window frims - fur (|77
3524 | Tur- und Fensterleisten
Kood Fva B 340x4LL0 +VK L Mater al File GOT46 Eva b BAOXAAbMWK L L Ldhng



AutoCAD SHX Text
Kood

AutoCAD SHX Text
Materjal

AutoCAD SHX Text
Leht

AutoCAD SHX Text
File

AutoCAD SHX Text
Eva E 340x440 +VK 44

AutoCAD SHX Text
4/5

AutoCAD SHX Text
G0146 Eva E 340x440 +VK 44.dwg

AutoCAD SHX Text
Pos

AutoCAD SHX Text
Model

AutoCAD SHX Text
Eva E 340x440 +VK 44

AutoCAD SHX Text
Pcs

AutoCAD SHX Text
Profile

AutoCAD SHX Text
(mm)

AutoCAD SHX Text
Length

AutoCAD SHX Text
(mm)

AutoCAD SHX Text
WINDOW 690x1470

AutoCAD SHX Text
 W5-S44P-0XT-06901470

AutoCAD SHX Text
3

AutoCAD SHX Text
KR-0

AutoCAD SHX Text
3524

AutoCAD SHX Text
Screws - Schrauben 3.5x45 C3   for door and window trims - für

AutoCAD SHX Text
Tür- und Fensterleisten

AutoCAD SHX Text
72


b Model o Profile |Lengfh
tva £ 340x440 +VK 44 (mm) (mm]
DOOR 2800x1975 W
DS-ULLR-O0XT-268001975
2800
] D440-RT
Right handed - DIN rechts
Tempered glass - Gehartetes Glas
Opens outside - Offnet aussen
L0 il
‘O_\ ®
KR_(0 | Screws - Schrauben 3.5x45 (3 for door and window frims - fur (| 33
3524 | Tur- und Fensterleisten
Kood LEvatb 340x4L40 +VK 44 Mater al File GOT46 Eva L BAOXAA@EWK L L 1hig



AutoCAD SHX Text
Kood

AutoCAD SHX Text
Materjal

AutoCAD SHX Text
Leht

AutoCAD SHX Text
File

AutoCAD SHX Text
Eva E 340x440 +VK 44

AutoCAD SHX Text
5/5

AutoCAD SHX Text
G0146 Eva E 340x440 +VK 44.dwg

AutoCAD SHX Text
Pos

AutoCAD SHX Text
Model

AutoCAD SHX Text
Eva E 340x440 +VK 44

AutoCAD SHX Text
Pcs

AutoCAD SHX Text
Profile

AutoCAD SHX Text
(mm)

AutoCAD SHX Text
Length

AutoCAD SHX Text
(mm)

AutoCAD SHX Text
DOOR 2800x1975

AutoCAD SHX Text
 D5-U44R-0XT-28001975

AutoCAD SHX Text
1

AutoCAD SHX Text
KR-0

AutoCAD SHX Text
3524

AutoCAD SHX Text
Screws - Schrauben 3.5x45 C3   for door and window trims - für

AutoCAD SHX Text
Tür- und Fensterleisten

AutoCAD SHX Text
38


TP90 WL“*‘\
RRY
HR
=
=N
TPI0-T
=
IS

2565

2025

Wall/Wand A T I

| 3400 |

\ 3156 {

0o I Eva E 340x440 +VK 44 ™ G0146
h a n S a 24{;:.) Drawing/Zeichnung Wa”/Wand A Format A4

Profile/Profil 4 4X 13 . 5

Scale/MaRstab 150 Date 09012023



AutoCAD SHX Text
TP90-1

AutoCAD SHX Text
TP90-1

AutoCAD SHX Text
Wall/Wand  A

AutoCAD SHX Text
2

AutoCAD SHX Text
1

AutoCAD SHX Text
010

AutoCAD SHX Text
012

AutoCAD SHX Text
016

AutoCAD SHX Text
020

AutoCAD SHX Text
020

AutoCAD SHX Text
PR1

AutoCAD SHX Text
PR1

AutoCAD SHX Text
PR1

AutoCAD SHX Text
KL2

AutoCAD SHX Text
KL2


KL1+KL3

~K£ 409
il HI| on
T HIl 023
¢ | HIl 023
i o | HIl 023
003 | HIl 023
e [ HI| 023 "
o [ HI| 023 E
HH 522 | H[] 023
tH 543 g HI| 023
HH 0 s | HIl 023
HH 02 | HIl 023
HH 02 | HIl 023
HH 02 | HIl 023
HH 02 | HIl 023
e [ HI| 023
A | HI 023 ]
[IH 023 L Al
Wall/Wand B va
2820 L1l
- 146 L4 100
100 44 146 |
| 3156
1
@
3400
U G0146
Nome Eva E 340x440 +VK 44
Format A4
h S a 2%.0@ Drawing/Zeichnung Wa”/Wand B
a n Q"> Date 2023
; A Profile/Profil 4 4X135 Scale/MaRstab 150 0901



AutoCAD SHX Text
Wall/Wand  B

AutoCAD SHX Text
2

AutoCAD SHX Text
1

AutoCAD SHX Text
009

AutoCAD SHX Text
011

AutoCAD SHX Text
017

AutoCAD SHX Text
020

AutoCAD SHX Text
020

AutoCAD SHX Text
023

AutoCAD SHX Text
023

AutoCAD SHX Text
023

AutoCAD SHX Text
023

AutoCAD SHX Text
023

AutoCAD SHX Text
023

AutoCAD SHX Text
023

AutoCAD SHX Text
023

AutoCAD SHX Text
023

AutoCAD SHX Text
023

AutoCAD SHX Text
023

AutoCAD SHX Text
023

AutoCAD SHX Text
023

AutoCAD SHX Text
023

AutoCAD SHX Text
023

AutoCAD SHX Text
023

AutoCAD SHX Text
023

AutoCAD SHX Text
023

AutoCAD SHX Text
023

AutoCAD SHX Text
023

AutoCAD SHX Text
023

AutoCAD SHX Text
023

AutoCAD SHX Text
023

AutoCAD SHX Text
023

AutoCAD SHX Text
023

AutoCAD SHX Text
023

AutoCAD SHX Text
023

AutoCAD SHX Text
023

AutoCAD SHX Text
023

AutoCAD SHX Text
023

AutoCAD SHX Text
PR2

AutoCAD SHX Text
PR2

AutoCAD SHX Text
PR2

AutoCAD SHX Text
KL1+KL3

AutoCAD SHX Text
KL1+KL3


KL1+KL3

=
2565

S S S S S A B .\
S ) S D D R B
T T T T T T T T T T T T T T T\

S S S A B R
o £

T T T T T T T T T [ T T T T T

Wall/Wand C T —

il 3112 il

3400

ame Eva E 340x440 +VK 44 " G0146

OQ

h a n S a 2 < Drawing/Zeichnung Wa”/Wand C Format A4

RO

0

Profile/Profil 44)(135 Scale/MaRstab 150 Date 09012023



AutoCAD SHX Text
Wall/Wand  C

AutoCAD SHX Text
2

AutoCAD SHX Text
1

AutoCAD SHX Text
009

AutoCAD SHX Text
011

AutoCAD SHX Text
011

AutoCAD SHX Text
011

AutoCAD SHX Text
011

AutoCAD SHX Text
011

AutoCAD SHX Text
011

AutoCAD SHX Text
011

AutoCAD SHX Text
011

AutoCAD SHX Text
011

AutoCAD SHX Text
011

AutoCAD SHX Text
011

AutoCAD SHX Text
011

AutoCAD SHX Text
011

AutoCAD SHX Text
011

AutoCAD SHX Text
011

AutoCAD SHX Text
011

AutoCAD SHX Text
017

AutoCAD SHX Text
020

AutoCAD SHX Text
020

AutoCAD SHX Text
PR2

AutoCAD SHX Text
PR2

AutoCAD SHX Text
PR2

AutoCAD SHX Text
KL1+KL3

AutoCAD SHX Text
KL1+KL3


7400

Screw/Scheauben

{200, 6 0x180 mm L2001

—1 005
008
004
002
002
002
002
002
002
002
002
002
002
002
002

002
001 —

i

gV

TP90-1

2228

T T T T T T T T T [ T T - 30T T
T T T T T T T T T T T T T T 1T T

A

A
b

A

Wall/Wand 1 T il

41100

| 2800

S
@ =F
i

4400

o ame Eva E 340x440 +VK 44 " G0146
(

Q
l'] a n S a 24 :j Drawing/Zeichnung VVa||/Waﬂd 1 Format A4

A Profile/Profil 44)(135 Scale/MaRstab 150 Date 09012023



AutoCAD SHX Text
Screw/Scheauben

AutoCAD SHX Text
6.0x180 mm

AutoCAD SHX Text
TP90-1

AutoCAD SHX Text
Wall/Wand  1

AutoCAD SHX Text
C

AutoCAD SHX Text
B

AutoCAD SHX Text
A

AutoCAD SHX Text
001

AutoCAD SHX Text
002

AutoCAD SHX Text
002

AutoCAD SHX Text
002

AutoCAD SHX Text
002

AutoCAD SHX Text
002

AutoCAD SHX Text
002

AutoCAD SHX Text
002

AutoCAD SHX Text
002

AutoCAD SHX Text
002

AutoCAD SHX Text
002

AutoCAD SHX Text
002

AutoCAD SHX Text
002

AutoCAD SHX Text
002

AutoCAD SHX Text
004

AutoCAD SHX Text
005

AutoCAD SHX Text
008

AutoCAD SHX Text
013

AutoCAD SHX Text
015

AutoCAD SHX Text
AT1

AutoCAD SHX Text
AT1

AutoCAD SHX Text
AT1

AutoCAD SHX Text
ÜV3

AutoCAD SHX Text
ÜV3

AutoCAD SHX Text
ÜV3


7400

Screw/Scheauben
{200, 6 0x180 mm L2001
i T 1 o0s ]
WL ' ' ' L Ebs 7J007
o i e 019 021 021 1 | 018
) LM 018 021 021 1 | 018
n | H 018 N 021 =] 021 018
LM 018 - 021 - 021 1 | 018
LA 018 022, 022, 1] 018
LA 018 027%n 022 1| 018 =
LM 018 021 021 1 | 018 N
LM 018 ] 021 = 021 1 | 018
LM 018 = 021 ) 021 1 | 018
LM 018 021 021 1 | 018
H 018 | =, | 021 [=, | 021 |=, | 018
L1 11003
LM 11002
f
Wall/Wand 2 T il Ay = -
[| 496 | 710 | 495 | 710 | 495 | 710 | 49 ||
100 4L L4 100
| 2800 | 4156 |
® ® @
4400
N SKU
0 e Eva E 340x440 +VK 44 G0146
b
l 24:’33 Drawing/Zeichnung W ”/W d 2 Format A4
1dnNsd a an
Ak Profile/Profil 44)(135 Scale/MalRstab 150 Date 09012023



AutoCAD SHX Text
Screw/Scheauben

AutoCAD SHX Text
6.0x180 mm

AutoCAD SHX Text
TP90-1

AutoCAD SHX Text
Wall/Wand  2

AutoCAD SHX Text
C

AutoCAD SHX Text
B

AutoCAD SHX Text
A

AutoCAD SHX Text
001

AutoCAD SHX Text
002

AutoCAD SHX Text
002

AutoCAD SHX Text
003

AutoCAD SHX Text
006

AutoCAD SHX Text
007

AutoCAD SHX Text
013

AutoCAD SHX Text
014

AutoCAD SHX Text
018

AutoCAD SHX Text
018

AutoCAD SHX Text
018

AutoCAD SHX Text
018

AutoCAD SHX Text
018

AutoCAD SHX Text
018

AutoCAD SHX Text
018

AutoCAD SHX Text
018

AutoCAD SHX Text
018

AutoCAD SHX Text
018

AutoCAD SHX Text
018

AutoCAD SHX Text
018

AutoCAD SHX Text
018

AutoCAD SHX Text
018

AutoCAD SHX Text
018

AutoCAD SHX Text
018

AutoCAD SHX Text
018

AutoCAD SHX Text
018

AutoCAD SHX Text
018

AutoCAD SHX Text
018

AutoCAD SHX Text
018

AutoCAD SHX Text
019

AutoCAD SHX Text
021

AutoCAD SHX Text
021

AutoCAD SHX Text
021

AutoCAD SHX Text
021

AutoCAD SHX Text
021

AutoCAD SHX Text
021

AutoCAD SHX Text
021

AutoCAD SHX Text
021

AutoCAD SHX Text
021

AutoCAD SHX Text
021

AutoCAD SHX Text
021

AutoCAD SHX Text
021

AutoCAD SHX Text
021

AutoCAD SHX Text
021

AutoCAD SHX Text
021

AutoCAD SHX Text
021

AutoCAD SHX Text
021

AutoCAD SHX Text
021

AutoCAD SHX Text
022

AutoCAD SHX Text
022

AutoCAD SHX Text
022

AutoCAD SHX Text
022

AutoCAD SHX Text
AT1

AutoCAD SHX Text
AT1

AutoCAD SHX Text
AT1

AutoCAD SHX Text
ÜV1

AutoCAD SHX Text
ÜV1

AutoCAD SHX Text
ÜV2

AutoCAD SHX Text
ÜV2

AutoCAD SHX Text
ÜV3

AutoCAD SHX Text
ÜV3

AutoCAD SHX Text
ÜV3


I 4 13mm
4 3mm 2X
1
—

i »
= R
= 4.5x90 ==
Screws -
-

4x30
Screws @

—

i \ Threshold

! 90x28

B
___.-—::’,:- = Door trims ~ EgR
== (G (90x18)
Al 3,5x45 Screws

T o
Ol ©

. y P
/;{ d
/ : - 7 o r
Covering salt (90x18)
3,5x45 Screws

3,5x45 Screws




4x30
Schrauben

@4 = 132n)1(m : ‘?T@
N =7
| % e
&
—
==
=
-~

4x30
Schrauben @

i.

%

4.5x90
Scrauben

___.-—::',:' e Blendleisten EgR
- (90x18)
3,5x45 Schrauben

- o]

o
- ’
Deckbrett (90x18)
3,5x45 Schrauben

Flhrungs
Detaile

@ @ ] Ll /| \%’Endkappen (18x52x110) @

3,5x45 Schrauben




